BK S:t Erik
Vérkul (dag) 2019-04-18

Partavling, 29 bord, 57 par. Antal brickor: 24. Medel: 648.3. Frirond (*) ger egen procent.

Plac Par Poéang % Namn MID Klubb
1 53 865.3 66.77 Anders Spjuth - Birger Bogstag 15032 53063 BK S:tErik
2 2 839.0 64.73 Fredrik Hellkvist - Claes Melin 65448 9105 BK S:tErik
3 1 837.3 64.61 Yvonne Flodqvist - Peter Térnblom 14805 2265 BK S:tErik
4 48 802.3 61.91 Carina Sundelius - Viviann Rosenlund 59990 52800 BK S:tErik
5 23 779.7 60.16 Michael Hagelin - Hans Faldt 62052 62046 BK S:tErik
6 14  762.7 58.85 Ulla Selander - Lennart Jansson 61726 55632 BK S:tErik
7 49 748.2 57.73 Peter Flodgvist - Karl Persson 14778 2872 BK S:t Erik - BK Bridgeliv
8 7 725.8 56.00 Eva Wiklander - Kenneth Léfstrand 17165 44356 BK S:t Erik
9 15 7255 55.98 Thomas Malmstrdm - Bjérn Rahmquvist 17048 13330 BK S:tErik
10 51 7239 55.86 Curt Wallin - Boel Helsing 35528 17117 BK S:tErik
11 46  717.8 55.39 Carl Agner - Lennart Berg 30172 8972 BK S:tErik
12 3 717.4 55.35 Per Molin - Mona Hellingh 57796 22782 BK S:tErik
13 20 7148 55.16 Thomas Kvist - Gudrun Strandberg 52995 4143 Norrorts Bridge - BK S:t Erik
14 18 713.3 55.04 Carl-Henrik Nauclér - Joakim Tillas 87456 63743 BK S:tErik
15 8 709.7 54.76 Mari-Anne Elsasdotter - Nils Fallgvist 89478 10552 BK S:tErik - Stureby BK
16 22 699.2 53.95 Maria Westgren - Monica Grangien 17071 11055 BK S:tErik
17 17 698.6 53.91 UIf Ohlin - Marianne Nilsson 38734 9163 BK S:tErik
18 33 698.4 53.89 Charlotte von Segebaden - Bibi Sandberg 93382 63469 BK S:tErik
19 13 696.7 53.76 Lennart Rehle - Tomoko Hansen 6599 84545 BK S:tErik
20 30 694.0 53.55 Martin Hagman - Johan Lundstrém 63904 61167 BK S:t Erik - Nyndshamns BK
21 25 691.8 53.38 Berit Ornevall - Kerstin Kinnander 19751 92567 BK Tva Ess - BK S:t Erik
22 36 686.5 5297 Barbaralane - Gunilla Seth 52559 54302 BK S:tErik
23 12 681.3 52.57 Mari-Ann Broberg - Kurt Hoglund 35818 30127 BK S:tErik
24 45 6754 5212 Bengt Kulling - Margot Kulling 40642 82114 BK S:tErik
25 5 674.3 52.03 Anita Brynje - Caroline Henjered 44476 43876 BK S:tErik
26 55 6741 52.01 Kerstin Graberg - Eva Englund 35823 23657 BK S:tErik
27 37 673.2 5194 Anette Ekman - Annette Lindberg 8987 12158 BK S:t Erik
28 6 669.1 51.63 Dan Lindblom - Asa Trollborg 62063 61414 BK S:tErik
29 21 667.8 51.53 Bodrje Larsson - Maj-Lis Larsson 85520 26293 BK S:tErik
30 57 664.1 51.24 Lars Nilsson - Yvonne Wiseman 43950 60233 BK S:t Erik - Filbyter Bridge
31 27 655.7 50.59 Ann-Christine Brask - Jan-Ove Hed 82567 48412 BK S:tErik - SEB Bridge
32 11  649.7 50.13 Agneta Gisle - Peter Gisle 39145 39076 BK S:tErik
33 26 645.7 49.82 Laijla Molén - Gunvor Westerberg 55398 29792 BK S:tErik
34 31 633.8 4890 Nils Molin - Monica Norrman 63899 62048 BK S:tErik
35 28 630.6 48.66 Cecilia Ramel - Berit Hellstrom 93561 41925 BK S:tErik
36 41 628.7 48.51 Ulla Winblad - Gunnel Levander 48717 31316 BK S:tErik
37 35 612.8 47.29 Marie-Anne Olsson - Bernt Lundberg 35871 57673 BK S:tErik
38 44  609.2 47.01 Annika Tengstrom - Ulrika Tengstrom 67359 67360 BK S:tErik
39 43 600.3 46.32 Lars-Goran Lund - Eva Lund 56975 56974 BK S:tErik
40 24 594.3 45.86 Ulla Petterson - Kenneth Hedstrom 37593 37592 BK S:tErik
41 40 593.7 45.81 Gunnar Ericsson - Ann-Cathrine Strém-Ericsson 54133 54134 BK S:tErik
42 52 5817 44.88 Siv Holst - Hans Holst 35492 35493 BK S:tErik
43 19 5815 44.87 Marianne Ohman - Jan Ohman 20943 40786 BK S:tErik - Alvik BC
44 9 572.3 44.16 Ulla Bohlin - Leif Norgren 83079 64139 BK S:tErik
45 47 569.8 43.96 Marianne Primér - Mikael Lundin 14791 17526 BK S:t Erik
46 50 568.2 43.84 Fredrik Sandvall - Harry Olsson 25808 64280 BK S:t Erik - Stureby BK
47 39 5557 42.88 Anita Sjostedt - Berndt Kvist 56168 57107 BK S:t Erik
48 4 553.7 42.72 Birgitta Alandh - Per Adolphson 1908 80455 BK Tva Ess - BK S:t Erik
49 58 549.9 4243 Anders d"Aquino - Jan Larsson 21174 5220 BK S:t Erik - BK Bridgeliv
50 34 531.3 41.00 Eva Mork - Elisabeth Sokolowski 83464 83465 BK S:tErik
51 42 522.2 40.29 Margareta Winell - Kerstin Strom 34369 52807 BK S:tErik
52 54  505.7 39.02 Kate Almkvist - Inger Gerle 44619 39792 BK S:tErik
53 56 4989 38.50 Kalle Fyhr - Ake Jungdalen 33110 63900 Vanersborgs BS - BK S:t Erik
54 16 490.6 37.85 Tom Slettengren - Martina Thornton 55226 54646 BK S:tErik
55 10 479.3 36.99 Lars Kronvall - Carin Stenberg 38733 35087 BK S:tErik
56 32 468.6 36.16 Agneta Jakobsson - Eva Menzing 57687 57693 BK S:tErik
57 38 4422 34.12 llona Bjork Bovin - Madeleine Geijer Edgren 52493 32858 BK S:tErik
1 45 2 4 E83 3 4 Kn1073
Nord v 108642 Ost v E87 Syd vK4
Ingen ¢ EKKn832 NS 49543 ov + K104
8 #DKn2 #8632
4 Kn98642 & EKD3 4 KDKn6 4107542 4952 «KD
v Kn5 vKD73 v5 v K102 vD9875 vKn3
¢- + D97 ¢ KD1082 ¢ EKn6 ¢+ E8 + D96532
#KDKn52 493 *E76 295 K94 #ED10
4107 49 « E864
vE9 v DKn9643 vE1062
¢ 10654 *7 ¢ Kn7
&#E10764 #K10843 &Kn75
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
44 15 64D O -1 vA 100 540 0.0|37 22 4v S= *A 620 540 00| 356 3NO-3 v2 300 53.0 1.0
12 47 64 O-1 vA 50 51.0 3.0|50 9 54DO-1 vQ 100 52.0 20|21 38 3NO-3 46 300 53.0 1.0
43 16 54 O-1 vA 50 51.0 3.0|33 26 3v S-1 &K -100 50.0 4.0|12 47 2NO-2 a4 200 50.0 4.0
7 52 5¢ N-2 s A -100 44.0 10.0|43 16 34 O+1 vQ -170 47.0 7.0|57 2 24 N+1 v] 140 480 6.0
17 42 5¢DN-1 s A -100 44.0 10.0|49 10 34 O +1 vQ -170 47.0 7.0|49 10 24 N= v3 110 46.0 8.0
20 39 3v N-2 aA -100 44.0 10.0| 3 56 34 O+2 *7 -200 38.0 16.0| 6 53 2NO-1 46 100 44.0 10.0
21 38 5¢DN-1 s A -100 44.0 10.0| 7 52 24 O+3 +6 -200 38.0 16.0|17 42 24 N-1 vlJ -50 39.0 15.0
23 36 5¢DN-1 s A -100 44.0 10.0|11 48 34 O +2 *7 -200 38.0 16.0|25 34 24 N-1 vJ -50 39.0 15.0
3 56 5¢DN-2 a A -300 36.0 18.0|19 40 34 O +2 vQ -200 38.0 16.0|43 16 24 S-1 *4 -50 39.0 15.0
19 40 5¢DN-2 s A -300 36.0 18.0|20 39 5vDS-1 oK -200 38.0 16.0|58 1 34 N-1 vlJ -50 39.0 15.0
58 1 5¢DN-2 s A -300 36.0 18.0|27 32 34 V+2 +3 -200 38.0 16.0|18 41 2¢ O= s A -90 33.0 210
37 22 44 O= vA -420 32.0 22.0|35 24 34 O+2 *7 -200 38.0 16.0|33 26 2¢ O= *5 -90 33.0 210
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4 55 44 O+1 vA -450 15.0 39.0| 4 55 44 O+1 ¢7 -450 15.0 39.0| 4 55 2¢ O+1 &7 -110 17.0 37.0
6 53 44 O +1 *T -450 15.0 39.0| 6 53 44 O+1 ¢7 -450 15.0 39.0| 7 52 3¢ O= +J -110 17.0 37.0
8 51 44 O+1 *T -450 15.0 39.0| 8 51 44 O+1 *7 -450 15.0 39.0| 8 51 2¢ O+1 4 A -110 17.0 37.0
11 48 44 V +1 ¢ A -450 15.0 39.0|12 47 44 O+1 ¢7 -450 15.0 39.0|11 48 3¢ O= 46 -110 17.0 37.0
18 41 54 O = ¢+5 -450 15.0 39.0|17 42 44 O+1 ¢7 -450 15.0 39.0|19 40 2¢ O+1 a4 -110 17.0 37.0
25 34 54 O= vA -450 15.0 39.0|18 41 44 O+1 *7 -450 15.0 39.0|23 36 2¢ O+1 *6 -110 17.0 37.0
27 32 54 O= ¢+5 -450 15.0 39.0|21 38 44 O+1 vQ -450 15.0 39.0|27 32 2¢ O+1 +J -110 17.0 37.0
28 31 54 V= 8 -450 15.0 39.0|23 36 44 O+1 vQ -450 15.0 39.0|28 31 2v V= a7 -110 17.0 37.0
33 26 44 O+1 *T -450 15.0 39.0|25 34 44 O+1 *7 -450 15.0 39.0|35 24 2¢ O+1 &5 -110 17.0 37.0
35 24 44 V+1 28 -450 15.0 39.0|28 31 44 O+1 ¢7 -450 15.0 39.0|44 15 2¢ O+1 46 -110 17.0 37.0
45 14 4a V +1 *A -450 15.0 39.0|44 15 44 O+1 *7 -450 15.0 39.0|45 14 2¢ O+1 46 -110 17.0 37.0
46 13 4e V+1 +K -450 15.0 39.0|45 14 44 O+1 vQ -450 15.0 39.0|46 13 2¢ O+1 vA -110 17.0 37.0
49 10 4e V+1 ¢ A -450 15.0 39.0|46 13 44 O+1 ¢7 -450 15.0 39.0|50 9 3¢ O= a4 -110 17.0 37.0
50 9 54 O= vA -450 15.0 39.0|54 5 44 O+1 ¢7 -450 15.0 39.0|54 5 2¢ O+1 46 -110 17.0 37.0
54 5 ba V= ¢A -450 15.0 39.0|57 2 44 O+1 *7 -450 15.0 39.0|20 39 INO +2 &5 -150 1.0 53.0
57 2 44 V+1 ¢ A -450 15.0 39.0|58 1 44 O+1 ¢ 7 -450 15.0 39.0|37 22 2NO+1 a7 -150 1.0 53.0
30 - 28.9 30 - 28.9 30 - 28.9
4 «D4 5 « DKn86 6 + 10654
Vast vK Nord vK1093 Ost vK2
Alla + D86 NS ¢ Kn82 ov ¢ EKn2
+KD87632 K2 #ED93
« Kn1062 & EK98 4 E9743 #K5 « K93 & Kn2
vKn108 v D75432 v74 v DKn5 vE4 v Kn10875
¢ KKn75 ¢E3 + E53 + KD107 + D764 ¢ K10853
#95 +10 #EKn8 #10653 210764 &Kn
4753 102 « ED87
vE96 v E862 v D963
¢ 10942 4964 +9
&#EKn4 D974 *K852
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
154 3NS= vJ 600 540 00| 9 11 3NO-3 &7 150 540 00| 7 50 44 S+1 vA 450 498 4.2
19 38 3# N= s A 110 510 3.0 7 50 3NO-2 &7 100 49.0 50|15 42 44 N+1 vJ] 450 498 4.2
25 27 3# N= v5 110 51.0 3.0|/10 8 3NV-2 v9 100 49.0 5.0(20 22 44 N+1 LN 450 498 4.2
35 37 44 N-1 s A -100 470 7.0|12 14 3NO-2 &4 100 49.0 50|35 37 44 N+1 vT 450 498 4.2
48 13 3& N-1 s A -100 470 7.0|35 37 34 V-2 »2 100 49.0 5.0(46 44 44 N+1 *] 450 49.8 4.2
5 52 3vO+1 *4 -170 35.0 19.0| 1 54 3NO-1 v6 50 37.0 17.0| 1 54 44 N= LN 420 35.3 18.7
6 51 3v O+1 *A -170 35.0 19.0| 6 51 2¢ O-1 *4 50 370 170 5 52 44 N= v5 420 35.3 18.7
7 50 3v O+1 ¢4 -170 35.0 19.0|15 42 2NV-1 v3 50 37.0 17.0 (17 40 44 N= &J 420 35.3 18.7
9 11 3vO+1 *A -170 35.0 19.0|21 23 3NV-1 v9 50 37.0 17.0|18 39 44 N= LN 420 35.3 18.7
17 40 3v O +1 *4 -170 35.0 19.0|24 26 3NV-1 v9 50 37.0 17.0(25 27 44 N= LN 420 35.3 18.7
18 39 3v O +1 43 -170 35.0 19.0|28 33 2NV-1 v9 50 37.0 17.0(34 36 44 S= vA 420 35.3 18.7
28 33 3v O+1 *A -170 35.0 19.0|53 4 3NO-1 v2 50 37.0 17.0|43 41 44 N= LN 420 35.3 18.7
34 36 3v O+1 *A -170 35.0 19.0|58 57 3NO-1 v6 50 37.0 17.0(48 13 44 N= vJ] 420 35.3 18.7
53 4 3v O+1 A -170 35.0 19.0|18 39 2¢ O= aT 90 27.0 27.0(53 4 44 N= *J 420 35.3 18.7
55 56 3v O +1 *A -170 35.0 19.0|46 44 2¢ O= ¢4 -90 27.0 27.0(58 57 3NN= v] 400 249 29.1
31 30 44 N-2 ¢ A -200 22.0 320| 3 2 24 0O= *2 -110 22.0 32.0(19 38 34 N+1 LN 170 20.8 33.2
43 41 5& N-2 s A -200 22.0 32.0|20 22 2¢ O+1 *7 -110 22.0 32.0|31 30 34 N+1 L) 170 20.8 33.2
58 57 5#DN-1 s A -200 22.0 32.0|48 13 2¢ V+1 aT -110 22.0 32.0|47 49 34 S+1 *6 170 20.8 33.2
12 14 54DN-2 s A -500 18.0 36.0| 5 52 INO+1 v6 -120 13.0 41.0|28 33 2 S+2 +4 130 16.6 37.4
15 42 4v O = A -620 13.0 41.0|16 45 INO+1 &7 -120 13.0 41.0|16 45 2NN= +3 120 14.6 39.4
16 45 4v O = &A -620 13.0 41.0|17 40 INO+1 v6 -120 13.0 41.0| 9 11 44 N-1 LN -50 8.3 457
21 23 4v O= &4 -620 13.0 41.0|19 38 2NV = vT -120 13.0 41.0|10 8 44 N-1 vJ] -50 8.3 457
24 26 4v O= A -620 13.0 41.0|34 36 2NV = v3 -120 13.0 41.0(12 14 44 S-1 vA -50 8.3 457
20 22 4vyDO= a2 -790 7.0 47.0|43 41 INO+1 v6 -120 13.0 41.0|21 23 44 N-1 *]J -50 8.3 457
47 49 4vyDO= S&A 790 7.0 47.0|25 27 INO+2 *4 -150 4.0 50.0|24 26 3NN-1 +3 -50 8.3 457
3 2 54DN-3 ¢ A -800 2.0 52.0|31 30 2NV +1 vT -150 4.0 50.0| 6 51 3NS-2 +6 -100 1.1 52.9
10 8 5#DN-3 oK -800 2.0 52.0|55 56 INO +2 v6 -150 4.0 50.0|55 56 3NN-2 +3 -100 1.1 52.9
46 44 5&#D N -3 s A -800 2.0 52.0|47 49 3NO= &7 -400 0.0 54.0| - 32 19.5
- 32 195 - 32 195 3 2 A+/A+ 324 35.0
7 » 106 8 497643 9 « EK
Syd v92 Vast v4 Nord v2
Alla + D62 Ingen +52 ov 496532
#KKn10864 #EKKn54 #EKn873
« EK52 & DKn94 « EKKn85 4 D102 #9852 4 DKn743
v873  vEK106 v E93 v K10752 vDKn93 ¢105
¢ EK85 ¢ Knl109 + Kn83 ¢+ E6 ¢D + EKKNn74
*E2 #D3 »86 #1073 #10962 &5
873 @- 106
v DKn54 v DKn86 v EK8764
4743 + KD10974 ¢ 108
#975 D92 #KD4
Par  Kontr ut Res Poéang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
43 39 74 V-2 v9 200 540 0.0|12 16 44DV -2 ¢5 300 53.0 10|54 56 44 O-5 vA 500 540 0.0
11 7 4v0O-1 &5 100 47.0 70|13 9 4aDV-2 3 300 53.0 10| 4 51 4v S+1 45 450 51.0 3.0
17 38 54 V-1 v9 100 47.0 7.0|48 44 4v O-3 ¢+ K 150 50.0 4.0| 6 10 4v S+1 45 450 51.0 3.0
26 37 6NV-1 *6 100 470 7.0(20 35 3& N+1 ¢ A 130 480 6.0(30 33 3NN+1 ¢A 430 470 7.0
32 31 64 V-1 *6 100 47.0 70| 5 50 44 V-2 A 100 37.0 17.0({58 3 3NN+1 ¢A 430 470 7.0
36 27 64 V-1 &T 100 470 70| 6 10 3v O-2 ¢+ K 100 37.0 17.0| 5 50 4v S= 49 420 42.0 12.0
48 44 64 V-1 &T 100 470 70(11 7 34 V-2 ¢+5 100 37.0 17.0|11 7 4v S= ¢+Q 420 42.0 12.0
12 16 4v O = 29 -620 36.0 18.0 |17 38 34 V-2 ¢+5 100 37.0 17.0|15 40 4v S= 49 420 42.0 12.0
13 9 4a V= aT -620 36.0 18.0 (19 23 44 V-2 A 100 370 17.0(13 9 3NN= 43 400 34.0 20.0
15 40 44 V= aT -620 36.0 18.0|24 28 44 V-2 *A 100 37.0 17.0|18 22 3NN= ¢4 400 34.0 20.0
30 33 44 V= aT -620 36.0 18.0(32 31 34 V-2 2 100 37.0 17.0(20 35 3NN= «Q 400 34.0 20.0
49 14 44 V= &T -620 36.0 18.0(34 21 34 V-2 &A 100 37.0 17.0(32 31 3NN= ¢A 400 34.0 20.0
4 51 4a4 V+1 v9 -650 23.0 31.0|49 14 3v O-2 ¢+K 100 37.0 17.0|43 39 3NN= ¢A 400 34.0 20.0
5 50 44 V+1 oT -650 23.0 31.0|54 56 34 V-2 va 100 37.0 17.0|17 38 3v S+2 49 200 24.0 30.0
20 35 44 V+1 v9 -650 23.0 31.0|36 27 3v O-1 ¢+ K 50 22.0 32.0(19 23 3v S+2 49 200 24.0 30.0
24 28 44 O+1 *9 -650 23.0 31.0|43 39 24 V-1 *A 50 22.0 32.0|42 46 44 V-2 v2 200 24.0 30.0
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34 21 44 V+1 v9 -650 23.0 31.0(45 41 34 V-1 &A 50 22.0 32.0(48 44 3v S+2 a2 200 24.0 30.0
42 46 44 V +1 v9 -650 23.0 31.0(52 1 34V-1 SA 50 22.0 32.0|57 53 44DO-1 vA 200 24.0 30.0
54 56 44 V +1 &T -650 23.0 31.0(55 2 3a4V-1 v4 50 22.0 32.0|24 28 3v S+1 +Q 170 17.0 37.0
55 2 44 V+1 v9 -650 23.0 31.0(58 3 44 N-1 a2 -50 16.0 38.0(36 27 3v S+1 45 170 17.0 37.0
6 10 3NV +2 &6 -660 8.0 46.0| 8 47 4¢DS-1 aA -100 13.0 41.0(45 41 3v S= 49 140 14.0 40.0
18 22 3NV +2 &T -660 8.0 46.0 |57 53 4& N-2 a2 -100 13.0 41055 2 44 N= *A 130 12.0 42.0
19 23 3NV +2 &J -660 8.0 46.0|30 33 24 V= v4 -110 10.0 44.0|34 21 3&N= *A 110 10.0 44.0
45 41 3NV +2 &J -660 8.0 46.0(15 40 24 V+1 SA -140 6.0 48.0| 8 47 44 O-1 vA 100 8.0 46.0
52 1 3NV +2 &6 -660 8.0 46.0|18 22 34 V= &A -140 6.0 48.0|12 16 4# N-1 *A -50 4.0 50.0
57 53 3N O +2 v5 -660 8.0 46.0(26 37 24 V+1 &A -140 6.0 48.0|26 37 4# N-1 *A -50 4.0 50.0
58 3 3NO+2 43 -660 8.0 46.0 (42 46 24 V +2 SA -170 2.0 52.0|49 14 4v S-1 49 -50 4.0 50.0
8 47 44 V +2 *2 -680 0.0 540 4 51 5#DN-3 *A -500 0.0 540(|52 1 34 0= vA -140 0.0 54.0
- 25 288| - 25 288| - 25 28.8
10 « ED53 11 « E865 12 & EKKNn1076
Ost v K1072 Syd vKn Vast v Kn9
Alla ¢ EKKn Ingen ¢ K92 NS ¢ K72
£106 #D7654 *96
4 K102 4Kn974 aKn72 4K9 a4 a5
v 384 v E953 v 1052 v EK9864 vE108 v D652
¢ D742 +96 ¢ DKn85 ¢ 10643 ¢ EKn1053 ¢ D986
#9732 #»EKD &#KKN9 %8 #K1082 &EKN73
486 4 D1043 4« D9832
v DKn6 v D73 v K743
410853 ¢ E7 *4
£#Kn854 #E1032 D54
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
46 40 1v O-3 48 300 54.0 0.0|51 57 5¢DO-3 a4 500 540 0.0(18 35 44 N= v5 620 54.0 0.0
150 1v O-2 +5 200 50.0 40| 1 50 44 N= vA 420 490 50| 5 11 5v0-3 +Q 150 520 20
33 32 INO-2 v6 200 50.0 4.0|18 35 44 N= vA 420 49.0 5.0|49 16 34 N= v5 140 50.0 4.0
45 39 1s O-2 vQ 200 50.0 4.0|27 21 44 N= vA 420 49.0 50| 9 44 5¢ V-2 s A 100 46.0 8.0
53 56 2N S +1 &3 150 46.0 8.0(41 12 44 N= L X} 420 49.0 50|45 39 5¢DV-1 aA 100 46.0 8.0
54 2 1v N+2 SA 140 440 10.0|53 56 4vDO-2 4Q 300 44.0 10.0|53 56 4¢ O-2 vJ 100 46.0 8.0
3 52 INN+1 &A 120 36.0 18.0|30 24 34 S+1 +8 170 39.0 15.0| 3 52 5¢ V-1 s A 50 39.0 15.0
4 10 INN+1 v3 120 36.0 18.0|37 28 34 N+1 vA 170 39.0 15.0|26 20 5¢ V-1 aA 50 39.0 15.0
14 8 INN+1 v3 120 36.0 18.0 |46 40 34 N+1 vA 170 39.0 15.0|30 24 5¢ V-1 aA 50 39.0 15.0
15 38 2NN = v9 120 36.0 18.0|49 16 34 S+1 +Q 170 39.0 15.0|43 22 5¢ V-1 s A 50 39.0 15.0
27 21 2NN= 49 120 36.0 18.0| 7 13 34 N= vA 140 31.0 23.0| 7 13 44 N-1 +8 -100 28.0 26.0
47 6 2NN= SA 120 36.0 18.0|17 23 34 N= vA 140 31.0 23.0|14 8 44 N-1 +Q -100 28.0 26.0
48 42 INN+1 &A 120 36.0 18.0|19 34 24 N+1 vA 140 31.0 23.0|15 38 44 N-1 +8 -100 28.0 26.0
511 INO-1 vQ 100 23.0 31.0(33 32 34 N= L X} 140 31.0 23.0|17 23 44 N-1 +Q -100 28.0 26.0
7 13 INV-1 a5 100 23.0 31.0(43 22 4v O-2 ¢ A 100 26.0 28.0|31 25 44 N-1 v6 -100 28.0 26.0
18 35 24 O-1 &5 100 230 31.0( 3 52 4v0O-1 43 50 22.0 32.0|46 40 44 N-1 +6 -100 28.0 26.0
26 20 1v O -1 43 100 23.0 31.0( 4 10 4v O-1 43 50 22.0 32.0|48 42 34 N-1 +8 -100 28.0 26.0
37 28 24 O-1 +8 100 23.0 31.0|15 38 4v 0O-1 a4 50 22.0 320| 1 50 3¢ V+1 a A -130 20.0 34.0
51 57 INO-1 48 100 23.0 31.0| 5 11 44 N-1 &8 -50 11.0 43.0( 4 10 44DN-1 +6 -200 11.0 43.0
9 44 INN= a4 90 15.0 39.0( 9 44 34 S-1 v2 -50 11.0 43.0(19 34 54 N-2 6 -200 11.0 43.0
43 22 INN= SA 90 150 39.0(14 8 34 S-1 +Q -50 11.0 43.0(27 21 44 N-2 +Q -200 11.0 43.0
31 25 1¢ S= v8 70 12.0 42.0(31 25 34 S-1 +3 -50 11.0 43.0(33 32 54 N-2 +9 -200 11.0 43.0
17 23 2v S-1 *4 -100 5.0 49.0(45 39 44 S-1 v2 -50 11.0 43.0(37 28 44 N-2 +8 -200 11.0 43.0
19 34 2¢ S-1 v8 -100 5.0 49.0(48 42 34 S-1 v2 -50 11.0 43.0(41 12 44 N-2 +Q -200 11.0 43.0
30 24 INN-1 *A -100 50 49.0(54 2 44 N-1 vA -50 11.0 43.0(47 6 54 N-2 +6 -200 11.0 43.0
41 12 3¢ S-1 v8 -100 5.0 49.0(58 55 44 S-1 v2 -50 11.0 43.0(51 57 44DN-1 +8 -200 11.0 43.0
49 16 3NS-1 *4 -100 5.0 49.0(26 20 34 S-2 +Q -100 1.0 53.0|58 55 4¢DV+1 4A -610 2.0 52.0
58 55 3N N-1 &3 -100 5.0 49.0|47 6 44 N-2 vA -100 1.0 53.0|54 2 64DN-4 *A -1100 0.0 54.0
36 - 28.6 36 - 28.6 36 - 28.6
13 1052 14 « EKN742 15 4 KD
Nord v Kn9765 Ost v KKn862 Syd v42
Alla +5 Ingen ¢ 765 NS + 1076
#8642 &- #ED9653
4 E98 & KD7 & K65 4 D1083 4 E9532 4 Knl06
vD v 108 v5 v D109 vK987 vEDS3
¢ KKn84 ¢ ED763 ¢ K942 4+ EDKn + K9 ¢ DKn852
#EKD93 #Kn75 #Kn9432 #D105 K4 »87
& Kn643 49 4874
v EK432 vE743 v Kn1065
+ 1092 41083 ¢ E43
210 £#EK876 £Kn102
Par  Kontr ut Res Poang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
37 30 6NV -4 v6 400 540 0.0(57 10 44DO-5 &A 1100 54.0 0.0|15 23 44 V-3 +6 150 52.0 2.0
13 5 6NO-1 vA 100 51.0 3.0|53 2 3#DO-3 49 500 520 2.0|31 36 44 V-3 6 150 520 20
58 54 3NV-1 v5 100 51.0 3.0|17 34 4v N+1 43 450 50.0 4.0|55 51 44 V-3 v4 150 520 20
18 26 4« V= +5 -130 48.0 6.0(44 7 4vy N= &5 420 470 7.0| 4 47 44 V-2 v4 100 470 7.0
8 16 2#V +3 vJ -150 46.0 8.0|52 56 4v S= &4 420 470 7.0128 20 3NV-2 &9 100 470 7.0
17 34 3¢ O+3 vA -170 43.0 11.0(58 54 4¢DO-2 49 300 440 10.0| 9 42 44 V-1 6 50 40.0 14.0
52 56 3¢ O+3 vA -170 43.0 11.0 (46 38 2v N +3 48 200 42.0 12.0|25 33 44 V-1 &A 50 40.0 14.0
1 11 4vDS-2 *A -500 40.0 14.0(12 39 3v N+1 &5 170 39.0 15.0|37 30 44 V-1 *A 50 40.0 14.0
46 38 5& V= +5 -600 38.0 16.0 (40 48 3v N+1 a7 170 39.0 15.0(44 7 44 V-1 v2 50 40.0 14.0
6 14 5¢ V+1 vA -620 35.0 19.0| 6 14 3v N= 48 140 33.0 21.0|52 56 4v V-1 &A 50 40.0 14.0
15 23 5¢ O+1 vK -620 35.0 19.0(27 19 24 N+1 43 140 33.0 21.0|13 5 44 N-1 aJ -100 33.0 21.0
27 19 5&V +2 +5 -640 31.0 23.0(28 20 2v N+1 &5 140 33.0 21.0|57 10 34 N-1 46 -100 33.0 21.0
50 3 5&V+2 +5 -640 31.0 23.0(50 3 3v¥ N= ¢ A 140 33.0 21.0|12 39 24 V= v4 -110 29.0 25.0
4 47 64 O= vA -1370 18.0 36.0|49 41 24 N= 43 110 28.0 26.0|17 34 24 V= 6 -110 29.0 25.0
9 42 6¢ O= vA -1370 18.0 36.0| 4 47 3#V-2 *7 100 25.0 29.0| 8 16 34 V= va -140 19.0 35.0
12 39 6¢ O= vA -1370 18.0 36.0|15 23 1INV -2 a4 100 25.0 29.0|18 26 34 V= &A -140 19.0 35.0
25 33 64 O= vA -1370 18.0 36.0| 8 16 3¢ O-1 49 50 17.0 37.0(27 19 24 V+1 +6 -140 19.0 35.0
28 20 64 O= vA -1370 18.0 36.0| 9 42 24 O-1 &A 50 17.0 37.0(46 38 34 V= +3 -140 19.0 35.0
31 36 6¢ O= vA -1370 18.0 36.0|25 33 24 O-1 &A 50 17.0 37.0(49 41 24 V+1 +6 -140 19.0 35.0
32 24 64 O= vA -1370 18.0 36.0|31 36 24 O-1 v4 50 17.0 37.0(50 3 3a V= *T -140 19.0 35.0
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40 48 64 O= vA -1370 18.0 36.0(|37 30 24 O-1 &K 50 17.0 37.0(53 2 34 V= v4 -140 19.0 35.0
45 22 64 O= vA -1370 18.0 36.0|45 22 24 O-1 49 50 17.0 37.0 (58 54 3a V= SA -140 19.0 35.0
55 51 64 O= vA -1370 18.0 36.0| 1 11 3NS-1 »2 -50 50 49.0| 1 11 34 V+1 +6 -170 6.0 48.0
57 10 64 O= vA -1370 18.0 36.0|13 5 4v N-1 *A -50 50 49.0| 6 14 34 V+1 v4 -170 6.0 48.0
44 7 64 O+1 &T -1390 4.0 50.0|18 26 4v N-1 ¢ A -50 5.0 49.0|32 24 34 V+1 &A -170 6.0 48.0
49 41 6%V +1 +5 -1390 4.0 50.0|32 24 4v N-1 ¢ A -50 5.0 49.0|40 48 3& V+1 &A -170 6.0 48.0
53 2 6#V+1 +5 -1390 40 50.0|43 35 4v N-1 *A -50 5.0 49.0(43 35 34 O+1 &A -170 6.0 48.0
43 35 6¢DO= vA -1540 0.0 54.0|55 51 24 N-1 *6 -50 5.0 49.0|45 22 44 V= v4 -420 0.0 54.0
21 - 27.8 21 - 27.8 21 - 27.8
16 «ED74 17 a7 18 #1053
Vast v8 Nord v8 Ost vE4
oV + EK1054 Ingen +D1094 NS ¢ Kn954
&KDKn #Kn1098763 £KKn73
4 K53 4 Kn109 &K 4 EKn « DKn6 497
vDKn974 ¢10 v EKn53 vD10972 vK96532 vD108
+ Kn62 + D9873 ¢ KKn87 ¢ 6532 ¢+ D72 + EK83
#63 #8754 &#ED52 #K4 &4 #E1052
4 862 4« D109865432 « EK842
v EK6532 v K64 v Kn7
¢- ¢E + 106
#E1092 »- £D986
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 41 3NN+3 +9 490 53.0 10|14 4 44DS= vA 590 540 00| 8 41 24 S+1 &4 140 53.0 1.0
15 34 3NN +3 &8 490 53.0 10| 3 11 44 S= +8 420 450 9.0|120 30 34 S= &4 140 53.0 1.0
1 13 3NN+2 aJ 460 470 7.0| 8 41 44 S= +8 420 450 9.0|21 31 24 S= ¢2 110 470 7.0
12 22 3NS+2 va 460 47.0 7.0|12 22 44 S= vA 420 450 9.0|33 36 24 S= +Q 110 470 7.0
48 38 3NN +2 &5 460 47.0 7.0(15 34 44 S= A 420 45,0 9.0(45 35 24 S= &4 110 470 7.0
57 47 3NN +2 &3 460 470 7.0|21 31 44 S= +8 420 450 9.0|48 38 24 S= &4 110 470 7.0
3 11 3NN+1 &4 430 33.0 21.0|45 35 44 S= vA 420 450 9.0139 49 3NV-1 &7 50 42.0 12.0
7 42 3NN+1 aJ 430 33.0 21.0|48 38 44 S= +8 420 450 90| 7 42 24 S-1 &4 -100 39.0 15.0
10 55 3NN +1 *7 430 33.0 21.0|57 47 44 S= vA 420 450 90|14 4 34 S-1 ¢2 -100 39.0 15.0
14 4 3NN+1 &4 430 33.0 21.0| 7 42 34 S= vA 140 36.0 180| 1 13 3v V+1 43 -170 28.0 26.0
24 25 3NN +1 +9 430 33.0 21.0({20 30 5v O-2 49 100 31.0 23.0( 5 44 3v V+1 43 -170 28.0 26.0
28 18 3NS+1 va 430 33.0 21.0(33 36 5v O-2 T 100 31.0 23.0| 9 40 2v V+2 T -170 28.0 26.0
33 36 3NN +1 &5 430 33.0 21.0(39 49 5v O-2 ¢ A 100 31.0 23.0|16 6 3v V+1 T -170 28.0 26.0
39 49 3NN+1 &5 430 33.0 21.0(46 23 4v O-2 aT 100 31.0 23.0(17 27 3v V+1 43 -170 28.0 26.0
45 35 3NN +1 aJ 430 33.0 210|116 6 4v0O-1 46 50 26.0 28.0|28 18 2v V +2 &7 -170 28.0 26.0
51 56 3NN+1 49 430 33.0 21.0| 5 44 44 S-1 *7 -50 22.0 32.0(43 26 3v V+1 T -170 28.0 26.0
17 27 4v S= »8 420 21.0 33.0(17 27 44 S-1 a K -50 22.0 32.0(51 56 2v V+2 +5 -170 28.0 26.0
58 53 4v S= &6 420 21.0 33.0|43 26 44 S-1 *A -50 22.0 32.0(54 50 3v V+1 T -170 28.0 26.0
32 37 3NN= &7 400 17.0 37.0( 1 13 54DS-1 vA -100 13.0 41.0(10 55 34 S-2 v3 -200 17.0 37.0
43 26 3NN= +3 400 17.0 37.0| 9 40 44 S-2 +8 -100 13.0 41.0|15 34 34 S-2 &4 -200 17.0 37.0
46 23 6N N-1 *7 -50 13.0 41.0|24 25 54DS-1 vA -100 13.0 410 3 11 4v V= 43 -420 8.0 46.0
54 50 5NN-1 &8 -50 13.0 41.0|28 18 44DS-1 vA -100 13.0 41.0|12 22 4v V= T -420 8.0 46.0
5 44 6NN-2 +3 -100 6.0 48.0|51 56 44DS-1 &A -100 13.0 41.0|24 25 4v O = aA -420 8.0 46.0
9 40 6NN-2 &5 -100 6.0 48.0(58 53 44DS-1 vA -100 13.0 41.0(32 37 4v V= 43 -420 8.0 46.0
16 6 6v S-2 &6 -100 6.0 48.0(32 37 54DS-2 SA -300 40 50.0|52 2 4v V= 43 -420 8.0 46.0
20 30 6NS-2 &6 -100 6.0 48.0(52 2 44DS-2 +8 -300 4.0 50.0|57 47 4v V= 43 -420 8.0 46.0
52 2 6NN-2 vT -100 6.0 48.0(54 50 54D S-2 vA -300 40 50.0|58 53 4v V= vA -420 8.0 46.0
21 31 6vDS-2 &6 -300 0.0 54.0(10 55 5#DN-4 v2 -800 0.0 54.0(46 23 4v V+1 vA -450 0.0 54.0
- 19 242 - 19 242 - 19 24.2
19 4« DKn1062 20 4 Kn74 21 D
Syd vEK Vast vK Nord v KDKn874
ov *7 Alla 498762 NS + Kn1086
£K9842 £10932 £Kn6
4 EK87 495 102 4 D95 # Kn853 4109642
vD63 v1092 vD1086542 v9 v 963 vE5
+ KD64 ¢ Kn832 ¢ Kn53 + KD4 + D94 + K32
#107 #D653 &E #KD8765 #E103 #K75
443 « EK863 « EK7
v Kn8754 v EKn73 v 102
¢ E1095 ¢+ E10 ¢ E75
&EKn &Kn4 #D9842
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
49 22 1vRDS+2 #A 920 540 0.0|20 32 4vDV -4 «7 1100 540 0.0[33 21 4v N+1 46 650 540 0.0
53 10 2¢vDS= aA 470 520 20| 8 39 3vDV-3 aJ 800 51.0 3.0|30 18 4v N= a2 620 50.0 4.0
7 40 3NN +2 &3 460 50.0 4.0|50 56 4vDV-3 aJ 800 51.0 3.0|42 5 4v N= 46 620 50.0 4.0
8 39 3NN= &5 400 470 7.0|36 24 3v V-3 a4 300 46.0 8.0|46 34 4v N= T 620 50.0 4.0
58 52 3NS= aA 400 470 7.0|51 2 3vV-3 aJ 300 46.0 8.0| 3 13 2v N+3 46 200 45.0 9.0
50 56 3NV-3 vA 300 44.0 10.0(53 10 3v V-3 aJ 300 46.0 8.0|25 37 2v N+3 a2 200 450 9.0
45 26 1la V-2 vA 200 420 12.0| 6 41 2v O-2 aA 200 36.0 18.0| 4 16 2v N+2 T 170 35.0 19.0
15 27 2NN +1 49 150 40.0 14.0|11 54 3vDV-1 a4 200 36.0 18.0| 7 40 3v N+1 a2 170 35.0 19.0
3 13 3v S= 4 A 140 35.0 19.0 (45 26 3v V-2 a4 200 36.0 18.0| 8 39 2v S+2 v3 170 35.0 19.0
36 24 24 N+1 *J 140 35.0 19.0 (46 34 3NO-2 &K 200 36.0 18.0|12 35 2v N+2 &5 170 35.0 19.0
46 34 34 N= vT 140 35.0 19.0(48 23 3NO-2 aA 200 36.0 18.0|20 32 2v N+2 46 170 35.0 19.0
51 2 2v S+1 &T 140 35.0 19.0 55 47 3v V-2 a4 200 36.0 18.0 (36 24 2v N+2 a2 170 35.0 19.0
57 14 2& N +2 49 130 30.0 24.0|57 14 34 0-2 aA 200 36.0 18.0|43 28 3v N+1 46 170 35.0 19.0
20 32 2NS= &T 120 28.0 26.0|12 35 24 S+1 &A 140 27.0 27.0(53 10 3v N+1 *2 170 35.0 19.0
33 21 24 N= +3 110 240 30.0(33 21 34 S= *A 140 27.0 27.0(11 54 44 O-3 vT 150 26.0 28.0
42 5 3& N= +3 110 240 300|44 1 24 S= &A 110 24.0 30.0|19 31 2v N+1 a2 140 21.0 33.0
43 28 2v S= &7 110 240 300 3 13 3v V-1 +9 100 19.0 35.0(38 9 3v N= 46 140 21.0 33.0
6 41 2v S-1 aA -50 16.0 38.0| 4 16 3¢ 0-1 4 A 100 19.0 35.0|45 26 2v N+1 &5 140 21.0 33.0
19 31 3vS-1 aA -50 16.0 38.0| 7 40 3#0-1 aA 100 19.0 35.0(49 22 2v S+1 &A 140 21.0 33.0
25 37 4v S-1 aA -50 16.0 38.0{43 28 2N O-1 aA 100 19.0 35.0| 6 41 2v N= *2 110 16.0 38.0
30 18 3NS-1 +6 -50 16.0 38.0|15 27 24 S-1 &A -100 12.0 42.0|15 27 34 O-2 vT 100 10.0 44.0
55 47 3NS-1 * K -50 16.0 38.0|30 18 34 S-1 &A -100 12.0 42.0|48 23 34 O-2 vT 100 10.0 44.0
4 16 3v S-2 K -100 6.0 48.0(58 52 3NS-1 +3 -100 12.0 42.0|50 56 34 O -2 vT 100 10.0 44.0
11 54 3NS-2 4 A -100 6.0 48.0|25 37 34 S-2 A -200 7.0 47.0|55 47 44 O-2 vT 100 10.0 44.0
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38 9 3NS-2 s A -100 6.0 48.0(49 22 44 S-2 &A -200 7.0 47.0|58 52 34 O-2 vT 100 10.0 44.0
44 1 44 N-2 v2 -100 6.0 48.0(19 31 34 S-3 v5 -300 20 52.0(44 1 340-1 vT 50 2.0 52.0
48 23 3N S-2 +6 -100 6.0 48.0|38 9 4¢ N-3 v9 -300 2.0 52.0|51 2 3aV-1 vK 50 2.0 52.0
12 35 3v S-3 s A -150 0.0 54.0(42 5 44 S-3 &A -300 2.0 52.0(57 14 34 O-1 s A 50 2.0 52.0
- 17 29.1| - 17 29.1| - 17 29.1
22 Y 23 & KD63 24 «109
Ost v EK1073 Syd v KKn4 Vast v 763
ov ¢ DKn83 Alla + EK62 Ingen + EK6
&E73 98 »EKB862
4E62 & KKn98 484 & Knl1075 & EK754 486
vKn4 vD98652 vD10965 v7 v K4 v D10852
+9765 ¢ E10 ¢10753 ¢ DKn4 ¢ Kn87432 ¢ D9
#9862 #10 &42 #KKn1063 &»- &DKn73
« D10753 & E92 & DKn32
v- v E832 v EKNn9
¢ K42 498 + 105
&#KDKn54 &ED75 #10954
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 56 2¢vDO-2 *2 500 540 00|18 32 3NS+4 v5 720 53.0 10|49 35 3NS= LY 400 540 0.0
1 42 3NN+3 v5 490 50.0 4.0|45 28 3NN+4 &6 720 53.0 10|18 32 4¢DV-2 &A 300 520 2.0
3 44 3NN+3 v2 490 50.0 40| 1 42 3NS+3 v5 690 49.0 5.0|30 43 3« N= 48 110 48.0 6.0
49 35 3NN+3 v4 490 50.0 4.0|19 33 3NS+3 v5 690 490 5.0(48 34 3 N= LY:] 110 480 6.0
22 8 3NN+2 &T 460 440 10.0| 7 38 3NS+2 v5 660 42.0 12.0(52 11 3& N= LY:] 110 48.0 6.0
30 43 3NN +2 v8 460 440 10.0|31 17 3NS+2 v9 660 42.0 12.0(31 17 34 V-2 &A 100 41.0 13.0
55 14 3NN +2 v9 460 440 10.0(48 34 3NS+2 +5 660 42.0 12.0(45 28 34 V-2 ¢A 100 41.0 13.0
5 40 3NN+1 v2 430 30.0 240|149 35 3NS+2 v4 660 42.0 12.0(46 27 34 V-2 &K 100 41.0 13.0
7 38 3NN+1 *T 430 30.0 24.0|52 11 3NS+2 v5 660 420 12.0(50 2 44 V-2 ¢ A 100 41.0 13.0
18 32 3NN +1 v5 430 30.0 240| 3 44 ANS= v5 630 23.0 31.0|12 26 2 N= LY:] 90 36.0 18.0
19 33 3NN+1 v9 430 30.0 240| 5 40 3NS+1 v5 630 23.0 31.0| 6 39 34 V-1 ¢ A 50 31.0 23.0
24 21 3NN+1 v8 430 30.0 240| 6 39 3NS+1 v9 630 23.0 31.0|25 20 34 V-1 &A 50 31.0 23.0
25 20 3NN +1 48 430 30.0 24.0|16 57 3NS+1 v9 630 23.0 31.0|37 36 3¢ V-1 &A 50 31.0 23.0
46 27 3NN+1 v8 430 30.0 240|22 8 3NN+1 aJ 630 23.0 31.0|54 13 34 V-1 &A 50 31.0 23.0
47 53 3NN +1 48 430 30.0 24024 21 3NN+1 &) 630 23.0 31.0| 1 42 2NN-1 +Q -50 20.0 34.0
48 34 3NS+1 vJ 430 30.0 24025 20 3NS+1 v5 630 23.0 31.0| 5 40 3&4S-1 s A -50 20.0 34.0
54 13 3NN +1 vJ 430 30.0 24.0|30 43 3NS+1 v5 630 23.0 31.0| 7 38 3« N-1 +Q -50 20.0 34.0
58 51 3NN +1 v9 430 30.0 24.0|37 36 3NS+1 v9 630 23.0 31.0| 9 23 3&N-1 +Q -50 20.0 34.0
6 39 3NS= v4 400 14.0 40.0|41 4 3NN+1 aJ 630 23.0 31.0|16 57 44 N-1 +Q -50 20.0 34.0
12 26 3NN= v5 400 14.0 40.0 |46 27 3NS+1 v5 630 23.0 31.0|19 33 3« N-1 +Q -50 20.0 34.0
31 17 3NN= v5 400 14.0 40.0 (47 53 3NS+1 +3 630 23.0 31.0|47 53 3NS-1 aA -50 20.0 34.0
41 4 3NN= &T 400 14.0 40.0(55 14 3NS+1 v5 630 23.0 31.0| 3 44 3NN-2 +Q -100 9.0 45.0
52 11 3NS= +6 400 14.0 40.0|58 51 3NS+1 v5 630 23.0 31.0|10 56 44 S-2 s A -100 9.0 45.0
9 23 2NN+3 v5 210 7.0 47.0|10 56 44 N= v7 620 8.0 46.0(22 8 44DN-1 48 -100 9.0 45.0
50 2 2NN +3 v8 210 7.0 47.0(54 13 3NS= v9 600 6.0 48.0(58 51 2NN-2 +Q -100 9.0 45.0
16 57 3¢ N= &T 110 3.0 51.0| 9 23 3v S+1 48 170 40 50.0(24 21 24 V= &A -110 2.0 52.0
45 28 34 S= aA 110 3.0 51.0(12 26 4v S-1 +5 -100 20 52.0(41 4 24 V= +K -110 2.0 52.0
37 36 5#S-2 vJ -100 0.0 54.0(50 2 6NS-2 LY:] -200 0.0 54.0(55 14 24 V= ¢A -110 2.0 52.0
15 - 30.2 15 - 30.2 15 - 30.2
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